

$$Z = f(x, y) \text{ as } g(x, y) = 0$$

$$L(x, y) = f(x, y) + \lambda \cdot g(x, y) \quad \lambda \in \mathbb{R}$$

$$P_1: Z = 8 - 2x - 4y \text{ as } x^2 + 2y^2 = 12 \Rightarrow x^2 + 2y^2 - 12 = 0$$

$$L(x, y) = 8 - 2x - 4y + \lambda(x^2 + 2y^2 - 12) \quad \lambda \in \mathbb{R}$$

der. 1. ordem

$$\begin{aligned} L'_x &= -2 + 2\lambda x \\ L'_y &= -4 + 4\lambda y \end{aligned} \quad \begin{aligned} -2 + 2\lambda x &= 0 \\ -4 + 4\lambda y &= 0 \end{aligned} \Rightarrow \begin{aligned} x &= \frac{1}{\lambda} \\ y &= \frac{1}{\lambda} \end{aligned}$$

$$x^2 + 2y^2 = 12$$

$$\begin{aligned} \lambda = \frac{1}{2} & \quad \lambda = -\frac{1}{2} \\ x = 2 & \quad x = -2 \\ y = 2 & \quad y = -2 \\ A[2; 2] & \quad B[-2; -2] \end{aligned} \quad \begin{aligned} \frac{1}{\lambda^2} + \frac{2}{\lambda^2} &= 12 \\ \frac{3}{\lambda^2} &= 12 \quad | \cdot \lambda^2 \\ 3 &= 12\lambda^2 \quad | : 12 \\ \frac{1}{4} &= \lambda^2 \quad | \sqrt{} \\ \frac{1}{2} &= |\lambda| \\ \pm \frac{1}{2} &= \lambda \end{aligned} \quad \begin{aligned} \sqrt{x^2} &\neq x \quad \forall \\ \sqrt{x^2} &= |x| \quad \circ \end{aligned}$$

$$\begin{aligned} \text{der. 2. ordem:} & \quad \lambda = \frac{1}{2} A[2; 2] \quad \lambda = -\frac{1}{2} B[-2; -2] \\ L''_{xx} &= 2\lambda & \quad 1 > 0 & \quad -1 < 0 \\ L''_{xy} &= 0 & \quad 0 & \quad 0 \\ L''_{yx} &= 0 & \quad 0 & \quad 0 \\ L''_{yy} &= 4\lambda & \quad 2 & \quad -2 \end{aligned} \quad \begin{aligned} D_2(A) &= \begin{vmatrix} 1 & 0 \\ 0 & 2 \end{vmatrix} = 2 > 0 \\ D_2(B) &= \begin{vmatrix} -1 & 0 \\ 0 & -2 \end{vmatrix} = 2 > 0 \end{aligned}$$

$\rightarrow$ A não é má e máx. los. min.

$\rightarrow$ B não é má e máx. los. máx

$$f'' > 0 \quad \cup$$

$$f'' < 0 \quad \cap$$

$$P_2: Z = -3 + 2x + 4y \text{ as } 2x^2 + y^2 = \frac{1}{2} \Rightarrow 2x^2 + y^2 - \frac{1}{2} = 0$$

$$L(x, y) = -3 + 2x + 4y + \lambda(2x^2 + y^2 - \frac{1}{2}) = 0$$

der. 1. ordem

$$\begin{aligned} L'_x &= 2 + 4\lambda x \\ L'_y &= 4 + 2\lambda y \end{aligned} \quad \begin{aligned} 2 + 4\lambda x &= 0 \Rightarrow x = -\frac{1}{2\lambda} \\ 4 + 2\lambda y &= 0 \Rightarrow y = -\frac{2}{\lambda} \end{aligned} \quad \begin{aligned} \lambda = 3 & \quad x = -\frac{1}{2 \cdot 3} = -\frac{1}{6} \\ \lambda = -3 & \quad x = -\frac{1}{2 \cdot (-3)} = \frac{1}{6} \end{aligned}$$

$$2x^2 + y^2 = \frac{1}{2}$$

$$\begin{aligned} \lambda = 3 & \quad \lambda = -3 \\ x = -\frac{1}{6} & \quad x = \frac{1}{6} \\ y = -\frac{2}{3} & \quad y = \frac{2}{3} \\ A[-\frac{1}{6}; -\frac{2}{3}] & \quad B[\frac{1}{6}; \frac{2}{3}] \end{aligned} \quad \begin{aligned} 2(-\frac{1}{2\lambda})^2 + (-\frac{2}{\lambda})^2 &= \frac{1}{2} \\ \frac{1}{2\lambda^2} + \frac{4}{\lambda^2} &= \frac{1}{2} \quad | \cdot 2\lambda^2 \\ 1 + 8 &= \lambda^2 \\ 9 &= \lambda^2 \quad | \sqrt{} \\ 3 &= |\lambda| \\ \pm 3 &= \lambda \end{aligned} \quad \begin{aligned} \lambda = -3 & \quad x = -\frac{1}{2 \cdot (-3)} = \frac{1}{6} \\ y &= -\frac{2}{-3} = \frac{2}{3} \end{aligned}$$

$$\begin{aligned} \text{der. 2. ordem:} & \quad \lambda = 3 A[-\frac{1}{6}; -\frac{2}{3}] \quad \lambda = -3 B[\frac{1}{6}; \frac{2}{3}] \\ L''_{xx} &= 4\lambda & \quad 12 > 0 & \quad -12 < 0 \\ L''_{xy} &= 0 & \quad 0 & \quad 0 \\ L''_{yx} &= 0 & \quad 0 & \quad 0 \\ L''_{yy} &= 2\lambda & \quad 6 & \quad -6 \end{aligned} \quad \begin{aligned} D_2(A) &= \begin{vmatrix} 12 & 0 \\ 0 & 6 \end{vmatrix} > 0 \\ D_2(B) &= \begin{vmatrix} -12 & 0 \\ 0 & -6 \end{vmatrix} > 0 \end{aligned}$$

$\rightarrow$ node A não é má e máx. los. min.

$\rightarrow$ node B não é má e máx. los. máx

$$P_3: Z = \frac{1}{x} + \frac{1}{y} \text{ as } \frac{1}{x^2} + \frac{1}{y^2} = 2 \Rightarrow \frac{1}{x^2} + \frac{1}{y^2} - 2 = 0$$

$$L(x, y) = \frac{1}{x} + \frac{1}{y} + \lambda(\frac{1}{x^2} + \frac{1}{y^2} - 2)$$

der. 1. ordem

$$\begin{aligned} L'_x &= -\frac{1}{x^2} - 2\lambda \frac{1}{x^3} \\ L'_y &= -\frac{1}{y^2} - 2\lambda \frac{1}{y^3} \end{aligned} \quad \begin{aligned} -\frac{1}{x^2} - 2\lambda \frac{1}{x^3} &= 0 \quad | \cdot (-x^3) \\ -\frac{1}{y^2} - 2\lambda \frac{1}{y^3} &= 0 \quad | \cdot (-y^3) \\ \frac{1}{x^2} + \frac{1}{y^2} - 2 &= 0 \end{aligned} \quad \begin{aligned} x + 2\lambda &= 0 \Rightarrow x = -2\lambda \\ y + 2\lambda &= 0 \Rightarrow y = -2\lambda \end{aligned}$$

$$\begin{aligned} \lambda = \frac{1}{2} & \quad \lambda = -\frac{1}{2} \\ x = -1 & \quad x = 1 \\ y = -1 & \quad y = 1 \\ A[-1; -1] & \quad B[1; 1] \end{aligned}$$

SB

$$\begin{aligned} \frac{1}{4\lambda^2} + \frac{1}{4\lambda^2} &= 2 \\ \frac{2}{4\lambda^2} &= 2 \quad | \cdot \lambda^2 \\ \frac{1}{2} &= 2\lambda^2 \quad | : 2 \\ \frac{1}{4} &= \lambda^2 \quad | \sqrt{} \\ \frac{1}{2} &= |\lambda| \\ \pm \frac{1}{2} &= \lambda \end{aligned}$$

$$\begin{aligned} \text{der. 2. ordem:} & \quad \lambda = \frac{1}{2} A[-1; -1] \quad \lambda = -\frac{1}{2} B[1; 1] \\ L''_{xx} &= \frac{2}{x^3} + \frac{6\lambda}{x^4} & \quad \frac{2}{(-1)^3} + \frac{6 \cdot \frac{1}{2}}{(-1)^4} = -2 + 3 = 1 > 0 & \quad \frac{2}{1^3} + \frac{6 \cdot (-\frac{1}{2})}{1^4} = 2 - 3 = -1 < 0 \\ L''_{xy} &= 0 & \quad 0 & \quad 0 \\ L''_{yx} &= 0 & \quad 0 & \quad 0 \\ L''_{yy} &= \frac{2}{y^3} + \frac{6\lambda}{y^4} & \quad 1 & \quad -1 \end{aligned} \quad \begin{aligned} D_2(A) &= \begin{vmatrix} 1 & 0 \\ 0 & 1 \end{vmatrix} > 0 \\ D_2(B) &= \begin{vmatrix} -1 & 0 \\ 0 & -1 \end{vmatrix} > 0 \end{aligned}$$

$\rightarrow$ node A não é má e máx. los. min.

$\rightarrow$ node B não é má e máx. los. máx.